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INSTRUCTIONS TO CANDIDATE
Write your Centre Code and Roll No. legibly in the space provided. Do not write your name any where in the book.
An examinee must not bring any loose paper, book, etc. except the Admit Card to the Examination Hall. Any examinee
found in possession of even loose papers will be EXPELLED.
No extra sheet will be provided for making notes or calculations. Candidates may use the inner cover pages of this booklet
for this purpose.
An examinee must not talk to, disturb or seek assistance from a fellow examinee during the examination.
No. leaf of the booklet must be torn or detatched.
Any mechanical or digital calculating device (calculator etc.) shall not be used by the examinee during the examination.
Mobile Phones shall not be used by candidates inside the examination Hall.
No candidate will be allowed to leave or go out of the Examination Hall during the first hour of the examination.
I. Questions are of multiple-choice type carrying one mark each and all questions are compulsory.
ii. Students arerequired to writethe correct answer [i.e. any one of (a), (b), (c) or (d)] in the box provided alongside the question.
iii. Acandidate having completed his/her question-answer booklet must hand it over, even if blank, to the invigilator before
leaving the Examination Hall.
Contravention of any of the instruction mentioned above shall render a candidate liable for disciplinary action as per rule.
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AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2010

Class : V
Time/<¥ : 2 hours/ TGt Full Marks/ & 7799 / (I 94 § (25+25+25+25)=100
INSTRUCTIONS / Teeiiwett / feiiat
1. Attempt All Questions / ATSIFCBT AT T&F F41 / ATSTHG ATIT T&F *he
2. There are four options to every question. Choose the correct option by putting any one of a, b, ¢ or d, in the box
ATSTHT 297 BBt fee Tee frat =it | war Teacht aify Sheraiz F1ww 4%t A1F© a, b, ¢ A d i)
2SS ara b1l e Tea et =tz | AfdE Teald @z AT A=t A a, b, ¢ @R d ford
General Knowledge / ¥i9e &@Iq / ALEN &)
1. The Lahore Gate is the main entrance to :
FACRITCT F2T T2 23 71T ?
FICRIA oI5 NCHA HING 2 A = 2
a) Qutub Minar b) Red Fort c) IndiaGate d) Lahore City
EERAREIL] HAeTiat e (o5 EUSCELE]
B RARGIES RIGIE] et o RN oI
2. Choose the correct answer :
wa Teq (oI Slereat
wr T @
A) Newzealand e feters )  Proteas aAfoarg / afbars
B) Australia g ferat i) Kangaroo FRANE / TNt
C) SouthAfrica wiawd et i) Kiwis fetew / feE
D) West Indies et 3w iv) Carribeans Fifafame / snfafes
a) A-ii B-i C-iv D -iii
b) A-iv B - C-i D -iii
c) A-ii B - C-i D-iv
d A-i B - C -iii D-iv
3. The First Indian Institute of management in NE Region (IIM) is located at :
TeT ~[{Tee TRAYT SRS @ 2ATSHIT (11M) F7© o 31 020 2
T ~{iwcera 2fouw TFHHEE e (ETee s (AT Ee T4l 27X 2
a) Guwahati b) Shillong c) Gangtok d) None of these
NI e (oRGF abre W&
SARIG RerR N @08
4. Which of the following is a literary award :
TET (F 0BT ifey o1 2
NHA @I ARy 7% 2
a) Oscar Award b) Gyanpith c) Grammy Award d) TansenAward

(1)



10.

11.

T-20 world cup cricket 2009 was held in :
5-20 A6 F1%t 2009 F'© S C2fEe 2

2009 @7 T5-20 fegetet i sde 27 ¢

a) Australia b) South Africa c) West Indies d) England
g fera wiwe wnifert oA e Y

Kelvin is the unit of :

Fres (F27 @5 ?

e (FrR @< 2

a) Heat b) Temperature c) Electric Power d) Frequency
Sl Twot afes =fe FAARE

The bridge that Joins Jogighopa and Pancharatna is :
CTIMTIA ST AT IR F weRAFI I 6 2
NI 8 #ACHH WL HLIFIR g i = 2

a) Kalia Bhomra b) Naranarayan c) Bogibeel d) Saraighat
Fherar ceicat TIRTT T ERIIEGH =qI2qH
Fleral (SR (T TN T RRltC] REIESI0

Greenhouse Effect is caused by :

CToE 9% AolF [Feq A T 2

TS AR 2OI] [POTR Sely 27 2

a) Green Plants b) Green colour c) Carbon-di-oxide d) Oxygen
T Sfew TG R FITTIE THIZT wiCe
et Sfen T ;R FETOR THRS Rl

The town famous for dairy products is :

(FITT 52 THETe AN AR [pre 2

wHGS A Gy e *1=

a) Anand b) Bareili c) Pune d) Trichur
Sipeg RleEal] AT fape
Sioad A A fapa

The word ‘Utkal’ in our National Anthem signifies :

B A TeFe =12 FIF AHILT ?

AR AT TP I ASHE I 2

a) Uttaranchal b) Uttar Pradesh c) Orissa d) AndraPradesh
Teare T 2t St S oA
T Teq aved St T e

Find out the odd one :

et == (et AfS Sevear

e = (B YT NS

a) Dr. Rajendra Prasad b) Dr. APJ Abdul Kalam c) Pt. Jawaharlal Nehru d) Dr. Shankar Dayal Sharma

To JETT AW To @ PITE. waE FEm sifee TRRIEe (2w To *RFT I =
To AT 2 To QPIIe. O TN 2fSe Grrele (R® To *3He WA *M{

()




12.

13.

14.

15.

16.

Fill up the Box :

IFge frar Qe 918 oof Ft Z N
N

= o 4

2 | 0| SN

The service ‘108’ means :

‘108’ Gt & 2
‘108’ ot & 2
a) Ambulance b) Railway Enquiry c) Postal Enquiry
QFETL (ST SR TIF SR
@FreTe FENST SR TP SePT=RIT
‘The Rajdhani Express’ connects the important railway station on India with :
AT qHC2AT SIOT [0 @Pgoel (TR ARS (FIALT bRIT ANC MYS FCR ?
AT 2T Sired [For eweld @R & @ =20 A AIS T ?
a) Delhi b) Mumbai c) Kolkata
ot EEIES FAFTO!
Ornithology is the science releted to :
TG @i e sreame =oe wive 2
TS e e e i 2
a) Egg b) Fish c) Bird
Far Ry A5
& R A

A person can deposit and withdraw money at his will from ?
QT WE F© WG TRIAIN 53 Tl ST W12 FT {1 2
GG T AT TR BT Tl 8 oIS ANH :

a) The Reserve Bank of India

SRS IS @F @b @®=F o fe|
ooy faethe @ (2% &= o] 2femice
c) Life Insurance Corporation of India d) Unit Trest of India
SIS Giew 0 fver 356 51 w1 gfem
SOy Qg A feie TG 312 o 2fem

®3)

d)

d)

d)

d)

b) The State bank of India

Education Helpline

et wear et
! Treal Gt

Chennai

(oR2

Zoology

2NN e
21 ey




17.

18.

19.

20.

21.

22.

23.

Shanti Swarup Bhatanagar award is given to :

=i Tt SIHoIT BF F1F et = 2

i T SibmeF ZFRIE Aq(ife F41 =7

a) Scientists b) Economists c¢) Chemists d) Sports persons
@i T w el ERIRITIEEES Glgifwayg

Which vegetable has been a subject of controversy in recent times :

AT FeTe @FY “Avfe Roda o sy 2

b7 @I AK Areifcwwice o an ey :

a) Potato b) Bt. Brinjal c) Tomato d) Cucumber
e 5-taveat ey oz
e fG-@eT BRICBT =

The film in which Shahrukh Khan played the lead role :

@I 2 iz QI I siiae wfeny fire 2

o 1 =i ==w AN o1 bfia Shew e 2

a) Taare Zameen Par b) 3idiots ¢) My Name is Khan d) Kartik Calling Kartik
I G 219 fu efate e @ &G AT Fifes sfer FIfew

Find the odd one out :

et Afo Sfereat

@ oot 71 9

a) Bingo b) Lay's c) Perk d) Uncle Chips
e T AF o= oo
IER&I @ ANF e ooy

The batsman who has not scored triple century in test cricket :

TS S FA (FITEA (58 TFbS a0 F41 T8 ?

@ RS (58 s fream @ 71F 2

a) Virendra Sewag b) Sachin Tendulkar c) BrianLara d) None of them
e e R CRCREEE] EIRICREIS QG T2
czw Ere =i CogFBIA RIRISICEil QPGS A

How many eggs are laid by a pigeon at a time ?

A1 BRI IS FFAHT FAT 91T 2

FIoF F06! (O GFANF AT ?

a) 5 by 6 c) 2 d) Not fixed FwE 7z / W@ w7

The leaves of the tree from which sugar is produced :

(FIT 2T ATST M (5 (oA FI 2 2

Mo @I SR Aol (A B g wat zw 2

a) Gum b) Maple c) Coconut b) Redwood
ESIE| T ClEE @CTT
ESIE pAeT Fifaa @ATTT

(4)




24.

25.

26

27.

28.

29.

30.

31.

32.

‘Black Beauty’ a story by Anna Sewel is the story of :
I (G ordl ‘@F Ebr aiFere 19 FiRat 2
it EET @71 ‘@< RO o @ alifig Tsig 2

a) Elephant b) Horse c) Rat d) Mongoose

ST =t a9 GRINET
Who was the 1st Chief Minister of Independent Assam ?
FIFNT SOTT AL AR (F I NG 2
IR SR 2L JLINa & (R 2
a) Lokpriya Gopinath Bordoloi b) Bimla Prasad Chaliha

@R confermy Iqmes et et vferz

TR califomie Iqmeet o=@t eiw sferar
c¢) Mahendra Mohan Choudhury d) Bishnu Ram Medhi

R (T (O gt

Y (N> By e &

General English

The police officer told the children to tell the ........
a) true b) facts ¢) information d) truth
([ go to see the doctor last week because | was very ill.
a) must b) should c) hadto d) might
Can anyone give me ....... please because | have just fallen over?
a) hand b) ahand c) thehand d) some hand
l....... her every day and she never says hello to me.
a) have seen b) am seeing c) will see d) see
Doyou ....... if | use your phone to call my brother ?
a) allow b) worry ¢) mind d) feel
I’'m going ....... for a few days, so don’t send me any more work.
a) off b) out c) over d) away
You will probably agree ....... me.
a) at b) to c) by d) with

(%)




Find the appropriate response from Mira in the following three questions :
33. Anil : She always goes to work on a bike.

Mira: ..ooooeeeeennnns
a) She is very healthy b) She must be very healthy
c) She can be very healthy d) She might be very healthy

34. Anil : We went to Manali last summer

Mira: .....coooeiiineee

a) |nevergotheretoo b) Ineverwentthere. ¢) Ineverdidthere d) [I've never been there
35 Anil: ‘I am most grateful.’

Mira @ ‘...... '

a) You are welcoming b) You welcome c) You're welcome d) You are welcomed

Fill in the blank space with the correct option :
36. You mustgo, .......

a) mustn’'tyou ? b) haveyou ? ¢) hadyou? d) mustlI?
37. Words just ....... me when | try to say how happy | am.
a) fall b) miss C) pass d) fool

38. The longtime servant was faithful and.......
a) honestly b) with honesty c) honest d) honesty

39. What's the ....... of India?

a) coin b) cash C) currency d) money
40. So many of these animals have been shot over the years that they are now classed as ....... species.
a) dangerous b) endangered c) unwanted d) limited

Pick out the word that is most similar in meaning ( Synonym) to the word given in bold capitals :

41. Earthquake is a natural CALAMITY.
a) Accident b) Disaster c) Occasion d) Anniversary

42. He is organizing the cricket team with great ZEAL.
a) Pleasure b) Energy c) Power d) enthusiasm

Pick out the word that is most opposite in meaning (antonym) to the word given in bold capitals :

43. My grandfather has become very FEEBLE.
a) Strong b) Weak c) Fat d) Lean

44. The girl was fined for her UNRULY conduct.
a) Dirty b) Noisy c) Orderly d) Disobedient

(6)




Choose a single word from the options to replace the words in underlined italics :

45. His handwriting is so bad that it can not be read.
a) invisible b) indistinct c) Iillegible d) eligible

46. Rani's brother is behaving strange. He will be sent to a hospital for mad persons.
(@) Psychiatry b) Reformatory ¢) Rehabilitation Centre d) Asylum

Mark the right choice on the basis of the relationship shown in the first part of the question :
47 DOG is to FAITHFULNESS as FOX is to ...........
a) Cleverness b) Intelligence ¢) Cunningness d) Dullness

48. MORNING isto DAWN as EVENING isto ............
a) Night b) Darkness c) Nightfall d) Dusk

Mark the choice which gives the correct spelling :
49. a) enimity b) enmity Cc) enemity d) anmity

50. a) viowel b) viowell c) vowel d) vowell

General Mathematics / 499 sifere / sty aifde
51. 128 %isequal to .......coeeveeeeeee..

128 % TN .o
128 % AT .o
32 68
B2, i Quintals are there in 10 tons
(O T FECHA |
10 B O FREH ?
a) 1000 b) 100 c) 10 d 50

53. The lines which lie on the same plane and do not intersect at any point are called .....................
AP ANCTO AFT (AT iiﬁ\o (27 Q0 (QEIEF (FIAM T .o,
G TN AT (I TE (2w 7 T4 @l [ =1 27

a) Perpendicular lines b) Parallel lines c) Intersecting lines d) None of these
T @l ANGIT @ 20F @A Qo18 T2y
=T @ SIS 2l @7 @ afoe T

()




54.

55.

56.

57.

58.

59.

60.

61.

In the figure below, points A,P, and C lie on the same line
Tete frat fome A, P, i@ C arF bt @9ie 43t 7|
eba wedt foea A, P, o7 C @8 @ At fonfs )|

D
A P C
What is the sum of the measures of angle APD and angle DPC ?
APD =i DPC (FI WBIT (T 72 fF 2
@9 APD =iiq DPC w2519 wi#f f 2
a) 90° b) 180° c) 270° d)
The value of (62x48+12+6-13)=................
(62x48+12+6-13)IWT = .................
(62x48+12+6-13) @@ 5T = ...,
a) 251 b) 241 c) 231 d)
A prime number is :
1 e G S ey
aF 5T GiferE RAM 2o
a) Aneven number b) An odd number c) A composite number d)
@Bt o AT @Bt Srgeyy TR @BY TATF IR
B oy TR aF B Sy A a6 Tt R
The place value of 2in 7.5672 is
7.5672 © 2 T FW AT =
7.5672 (S 2 &9 FAT IF 2@
1
Thrice a certain number is 12. Nine times that number will be :
@bt i siame fofarad 12 2re 4G a7 273 -
a5 B searia fome 12 2&ca it Faed =
a) 12x9 b) 12+9 c) 12 x3 d)
If (afir) 29 x 27 = 783; then (BB / SIZE) 0.29 X 0.27 = oo
a) 0.0783 b) 0.783 c) 783 d)
Volume of a cuboid with ‘p’ as length, ‘g’ as breadth and ‘r’ as heightis ......................
QB ST TFT AT ‘p’ 2F ‘o BN THoT ‘1’ (e ST WO 29
OB TP TS F© 2 T O 0 p', 2 ‘g i 1 Twoet =W
a =L b) par c) pHa+r d)
P
ﬁi + Jl T s
A%
a) A b) 2 c) M d)

(8)

360°

212

None of these
qbie FET
9FT68 7T

5000

12+9-3

7.83

~NIh




62. The difference between 8 hrs 42 min 51 secs and 3 hrs 56 min 59 secs is
8 To1 42 NG 51 (BrFS =F 3 T61 56 NWE 59 (BTFST T NLF T
8 w51 42 9% 51 etas =g 3 T6t 56 W6 59 GUFT Wy ATy T

a) 4 hrs 45 mins 52 secs b) 3 hrs 45 mins 52 secs
4 %1 45 Tf5 52 (5rFe 3 % 45 i b 52 (Fe
4 w5t 45 TS 52 cws 3 W%t 45 TS 52 cws

¢) 3 hrs 48 mins 50 secs d) 4 hrs 48 mins 50 secs
3 W%t 48 TS 50 vrwe 4 %t 48 TS 50 BT
3 %t 48 % 50 GTFS 4 51 48 TG 50 CFs

63. How many 2 digit even numbers are there in all ?
ot e 2 Fwet oy st ey 2
72H! oRF {2 Febt oy A =T ?
a) 40 b) 44 c) 45 d) 90

64. Which of the angle marked with an arrow is acute ?
IGO0 Afbw FI0 FCHT @Il T 2
fox forz oraient @S @l P/ el 2

o e AL el el

65. The next number in the patten is (CIATHIT F_TST AVCHT 27 / ABre 2qSt FRA)
1,1,2,3,5,8,13,21 .o
a) 34 b) 31 c) 32 d) 38

66. () <> <> 6D = 3 units (9F<F)

One unit equals ( 9F 9FFT AN / OF GF(FF ANN)

a) Q b) | 0 C;Q 0 Q/\

67. 97.52+ 100 = ...ooovverreerererrnan.
a) 97.52 b) 0.9752 c) 0.09752 d) 0.009752

68. The product of a fractional number and its multiplicative inverse is :
AT TR TWE O GNIF AT TN ...
@36 SAI @ OiF weiteF [PRiced AaeTe. ...
a) 0 b) 1 c) number itself GRATE/FRTATB) d) None of these (abre wzw / @ foe wx)

9. IX+XV +XXZ oo,
a) 45 b) 44 c) 40 d) 35

(9)




70.

71.

72.

73.

74.

75.

If the diameter of a circle decreases by D, then its radius will decrease by

T @Bt FeT [T D wel FT (98 2R [ Fh|
T @F5 JeeF I D el FC o TE [ENE IR
a) A b) 4 c) 2

What is the sum of the reciprocals of 7 and % ?
7O L S AT I 2
7o ¢ elfoarts v T 7

a) — b) 16 c) —

The capacity of a water tank that measures 9 cm x 3.5 cm x 7.5 cm is
9 (2. x 3.5 (. x 7.5 (2f. (@i “iTT BT @BiT 09 FHA ...

9 .ft x 3.5 G x 7.5 G1.f0. Witetw 9= wee Bricsn giFw el

a) 236.25cm?d b) 189 cm?® c) 236.25cm?
236.25 94 (2 f. 189 9= (2 ¥, 236.25 9+ (2 f.
236.25 9 @1.fxr. 189 7 (1.fx. 236.25 9 7.,

In the following subtraction, the digits represented by A, B and C are

wote Tl FREAsITAere A, B S C SRS (F3519 T
oa et e wEvee A, B W9 C @9 W IAFE

a) B=9,B=3,C=9 b) A=10,B=3,C=3 d) A=9,B=3,C=3

The highest common factor of 17, 19 and 29 is :
17, 19 %01 29 Al s 29
17, 19 =019 29 el s 261

a) 1 b) 9367 c) 323
72 km/hr = ............... m/sec

72 el /ot = /(=)

72 Tl /ot = = /01)

a) 54 b) 108 c) 20

(10)

d) 189 cm?®

189 9= (2 f¥,

189 %« 1.fw.

d A=11,B=3,C=3

d 9

d) 15




General Science / 4=l feal / Ay fqeaw

76. Plants have special organs called ‘stomata’ for respiration, which are generally situated on the lower surface of the
leaves, How do acquatic plants like lotus, lily etc. breathe ?
e #1107 THFITT AT TR AGIHAT™ TIR-fT12 &7 | &6 $fBw A 2, (O6 N @FCAF Tiie-f=iig =7 2
Tomma #ITeia Mo AT D23 ATIHEI ARITST HIH-YT (77 | SR Terer few @ o1, ferfer freica yror-epgis e 2

a) They have the stomata on the upper surface of the floating leaves

3507 ST AFT 2lTeq SATNET Aadw AF
o AT Arola Toafucs lagm AT |

b) They can breathe through water
3570 AN weTe THIT 7 AT
CIGERIGR AT R (]

c) Thereis no need to breathe for these plants

A Tfewa Tez-fiige e i
GIYAT SIBWA WIA- LN T 72 |

d) Both‘a’and‘b’
‘a el Ty
‘' o b S

77. Which of the following can predict a Tsunami ?

O (FINCHICE G A0 fey 2

o @G RN 2& ST o

a) Humidity of a place b) Temperature of a place
QT 53T Sweie QAT JIET SR
ECERSIUO)] BN orotar

c) Atmospheric pressure d) None of these
YT BIest abre 72x
NG oA aFfoe I

78. Boiling of water removes / eliminates the disease causing germs. This happens because:
AN 91T FIICET ©Te AT (@t ARFIA Terle] 477 27| Q7T @RI FIe
e SIFN FACE IO AT @I YBHIA Jewie] WO 2 PR 29

a) They come out in the form of bubbles b) They settle down
it AN I9IM0T IS 6= 12 =g At TeTe T T
NS T TAEF JAHA SN GO ST i s o=t =W

c) They die at high temperature d) Allthe above
e TH Siofe W@ 27 IHIRFEB!
el Tebwiee <A 7 I G

(11)



79. Afrog can live both in water and on land. How does it breathe when inside water ?
(SFAH 21T BE IS TS I FE AN | ATE AT SRS 2200 (FHF Gre-fa=ig =1 2
AN TICET S T AT A | T AP ST gt (eI 2T 21zt I 2

80.

81.

82.

83.

84.

a) lItraises its head and breathe b)
337 T[0! NN @91t T Stre-fraiig =7
AT S SoAed S AT e A |

c) Itdoes not breathe when inside water d)
2309 AT weTe THiE-foig ey
TreeT AIFT SFE 9 7 i

Our tongue is basically a .....................
T fEret AraRers af ke
I (SR AGTTS @F LI v
a) bone tissue b) muscular tissue c)
Rlecl EicT
BlEsl Rt

Molecules of which state have the highest energy ?
AW (FIACH TFre WA #ife wbiees @fy 2
AT @ IR S *fe FEIR @ 2

a) solid b) liquid c)
(oot RG]
o CEGH

Which of the following can not see in the dark ?
TS (FICOIE SAHITE (AT AT 2
e @I AT TRFIE TS AT 2

a) ﬁ b) W@» c)

Fibrous roots are presentin :

Ber Frsit 2

OB e AN

a) peaplant b) banyan tree c)
RITRIEC) BRI
BRI (4 3G Mtz

Which of the following is a unit of length ?

T (FIACT (T aFF ?

o7 @6 el @ 2

a) grams b) minutes c)
T RIE
ot G

(12)

It breathe through its skin

350e QI 71 SHie- iz o
ORI A @i e At |

It breathes through its lungs
3570 26-FET BT Tz ferg
RRRAERIEI MRS e (e]

skin d) None of these
B QB8 wTY
v «3o8 7

gas d) Allthe above
1y SIBIRFE6T
QitEd) P!

~ L

mango tree d) grass

I g RIEC

oY 4fitR A

inches d) None of these
B abre Jzm

& aoe =t




85.

86.

87.

88.

S{feT, (BT SR RFTRAG ... I RIS |

wfer, Aol FFaiSres @ iv TEa @i

a) complex machine b) compound machine c¢) single machine
SITE R i T aFF TF
SoeT T e =@ 9T T

Which of the following is necessary for a seed to germinate ?

e RFIAT I oS (FIACHT WIS 2

S SLFAGH T (G WS 2

a) wind b) water c) insects
RS A FNB- o5
e Tl INo-7ro%

The reproductive part of a plant is generally its :

@bt Sfewa i el (arg 3T

SReTa eiow =I2st 26 ©OfF

a) leaf b) bark c) flower
At AT Rl
7ret AL Gl

During solar eclipse, the sun is covered by the moon. But the moon is many times smaller than the sun. Then how

can it cover the sun ?
T RO TS 92 F AR 47| [Fg 5792 TS (@FAF WRAN 47 Rzg 7% ;Wi WA 7 2
X AT TN 5% THF (BT A | THE A (i T

a)

b)

c)

d)

The moon comes between the sun and the earth
b, I i AR e wwE 1
5 X 7 RS T S I

The moon is much closer to the earth than the sun.

b el AfUSIT I 6

The earth comes in between the sun and the moon

None of these
abis w2W
asbe 7t
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d)

d)

d)

simple machine
AL T
A TF

animals

A
2

stem
F1G
EAI]




89.

90.

91.

92.

93.

Which of the following helps dissolution ?

TR (FIVCHIE TISITS ARIT FCF ?

Toa @EG TS = I 2

a) smaller particles b) stirring
w FF! Nllalivr]
L B TG

Chief air pollutants are :

L Y AT (2R

5 ] e T

¢) highertemperature d) Allthe above
T ©i?
TH oI

a) Carbon monoxide, carbon dioxide and sulphur dioxide
T T THIZT, FIEF TR AL AT AT TR SHLS

¢) Nitrogen, hydrogen & sulphur dioxide

TBBCE, QBTG AT BIAFIT T2 TIHIZT

The number of vertebrae in our backbone is :

TNIR (A vS9 AFT FARH T R
INAT (RS AT IR MRET :
a) 30 b) 31

Which of the following relationship is correct ?

T (FIACBT I 2

eex @6 7oy 2

a) More humidity we sweat more
@ wiwete wifi @fe T
@ Swe Iy SI=E @ Qi

¢) Less humidity we sweat more
F wwere Wt @R T
TN ST A @ N oA

b) More humidity we sweat less

@R Swete SR FN¢F e

RIESE

A 6!

b) Carbon dioxide & oxygen

T TIX THRT G3R SFHSH

d) Sulphur dioxide, ozone & methane
TSR TR AT, e oF Fa
AT TIE SHIZS, @rene wiF e

d) 33

N ST = FH ity

d) None of the above
89T GBI T

asfBe Jf

When we climb a multi-storeyed building, we lose some energy , What happens to that energy ?

cafet =it a2 AN 82 Wi SALE 9012 IS (ofont ST =ifese et 906 | (73 et it =ife Rife $ter 1w 2
T S B Wi $fF, S =i g @t oy, o «fem e e

a) It gets converted into sound, heat and light energy b)
@3 SR =177, Stst =< (siteg =ifeta @vtiga =
«® =& =3 o oI WeEAF oo Fwoied 2

c) ltislost
@3 #fe T 7™
@ e famrt 23

It gets converted into kinetik energy

@2 feRf sfexfeta aoRfieo o=

a? & sifexifere wolicite g3

d) Itgets converted into potential energy

@2 = e “fete welisie o
a2 #fe fEfe wfere woieflre 27

(14)



94.

95.

96.

97.

98.

Which disease is not spread by houseflies ?

TR (FCHT @R R 7l et 2

NHA @ @e N 2O Al 2

a) Diarrhoea b) cholera c) malaria d) typhoid
JETiRl FCETR RIGER] RREY

Which of the following does not have a vertebral column ?

TR (FICHIT (TS IS 2

Teoa @A 2T (TS FE 2

a) crab b) fish c) snake d) birds
@R Ty Aot IRy
Rasav) Ny A A

Which of the following are required by plants to prepare food ?

Tl Ay oge FRAS 61 (FIT (F2HIE ATAGH ?

Sfea Uy efge FACo O e 2

a) Sunlight, water & oxygen b) Sunlight, water & carbon dioxide
T (AT, AN Wi e T (AT, AN W1 FIEA TR S3H2C

c) Starch, water & carbon dioxide d) Starch, water & oxygen
CITOAT, AN TE FIET T SH/ZT CIOAIR, AT = ST

The oxygen that we breathe in, comes out as :

I EHTS 92 FqBHME....oooooeeeereeeern fepiet @iz sz |

IR Y TS FHH S ..o 2T @@ e 2|

a) carbon monoxide b) Nitrogen c) Hydrogen d) Carbon dioxide
FIKT T S{/IZT TEHCE REV G FHT TIE wIEe
FIA T SH{ET TEHCET REV T FE TIE SHET

Buoyancy of liquids is :

o9 ifael tare

T Aol =4

a) The upward push b) the lateral push c) the downward push d) None of these
el Hiof Areora [EER NI aBie T2
THIA BIoA “Ardorst IEER NIl b

(15)




99. Fruits are an important source of ..........ccccvvvvveveeeen.

R R T P $e ;

R 1 A, @y Te

a) Vitamins b) Protiens c) Carbohydrates d) Fats
febifma afoaa RG] LAIE]

100.The function of rib cage is to:

FIRITT TSIHIT FIT 02T

Aot STesIg FIF 2T

a) Give support to our body b) strengthen our body
T =9 = ot T AAIF == Fat
AT AT ST =R =it T4

c) Provide flexibility d) Protect delicate organs
TARTS! AW FAA TREAWTAE SRAIF I fort
AT 2wl w4l TN SRS ! (TS

kkkkkkkkkkhkkkkhkkkkhkkkk
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